[(1—-1%FRE] UTOXFEZHFID/—FIELTSESL,

RER/—FO2EFITHI Y FLET, HEOEETY, RALBHASEESGTASEEHL
TFEL BHEIDRRO L EIC, BFHE. HER. COREZELHFEIO/—H &#

RARZABLTEVTCESZL, TEEOREFICASONBTE2MERERELASHE

EYAFPETIDTHIREZL>TETLESLY,

€t 30D

axaxa=a>DEKIOIC, aZWDDENIZEDE a DREEND, aZnBENITZE
DZEaDnFEELW), a®ERT, COESE, nZa" DEEEND, BICal =a THD.

RDEFTEZEZBZ KD,
(1) a?xa®=(axa)x(axaxa)=a®

a® =a*tB EBZ5NBN'S, a? xa® =a*B HKDIID,

2) (@®)P=a’xa’*xa’?=(axa)x(axa)x(axa)=a®
a® = a?3 EZBEZ5NDN'D, (a?)? =a? HKDIID,
(3) (ab)®=abxabxab = (axb)x (axb)x(axbh)
=(axaxa)X(bxbxb)=a3b?
(ab)® = a®b3® 'KV IID,
KO TROERIDEKDIID,
BEUAR
(1] a™ x a™ = a™™" 2] (a™" = a™ (3] (ab)™ = a™b™
51 3

a® x a® = a3*5 = ¢8
(@3 = a®3 = q12

(Clzb)4 — (a2)4b4 — a2><4b4— — a8b4—

B3 ROFTBEZEE K,

(1) ab x a® = a3 = a°

(2) axa’ =a*7 =ab

@) (%) = a5 = a5

(4) (ah)® = a¥® = 32

(B (ab*)? = a?(b*)? = a’b**? = a’b®

6)  (a®b5)6 = (a)5(b5)6 = a*6h5*6 = 1830

(3x)? x 5x* = 3%2x2 x 5x* = (32 x 5) x (x? x x*) = 45x°




B4 ROFBEEL,
(1) 2x3x3x%=(2x3) x (x3 xx°) = 68
(2)  9xy x (—5x%)
= {9 x (—=5)} x (xy x x*%)
= {9 x (=5)} x {(x x x*) x y}
= —45x°y
(3) (3x3)* x 10x?
= 3%(x3)* x 10x2
= (3*x 10) x {(x®)* x x?}
= (81 x 10) X (x1? x x?)
= 810x*
(4)  (—2xy®)? x (3xy)3
— (—Z)sz(y3)2 x 33x3y3
={(=2)? x 3%} x (x* x x*) x {(¥*)* x y*}
=(4x27)xx5x (y® xy3)
= 108x°y°

ZIEADEZEBEADIDHICRKRI CEZRBEITDIEN D, BEITDICIE, PERTHEA
IZEXDIC, RODEEANZRLND,
BI5 (1) 2x2(5x% —4x — 1) = 2x? - 5x% + 2x? - (—4x) + 2x% - (-1)
= 10x* — 8x3 — 2x?
(2) (4x+5)(x%?+3x—2)
= 4x3 + 12x? — 8x + 5x%2 + 15x — 10
=4x3+17x% + 7x

(dx+5 )(x*+3x—2)

FH5 ROFFTEET X,
(1) (3x? —2x+5) x (—2x)
= —6x3 + 4x% — 10x
2) 2x—=3)(4x%>—x+2)
=8x3—2x?+4x—12x2+3x—-6=8x>—-14x>+7x— 6



